
HARDWARE  LIST

Jcbc Bolt ∅5/16"x20x60 24 pcs

Spring Washer∅5/16"x∅19

DESCRIPTION Q'TY

Flat Washer ∅5/16"
Allen Key 4mm 1 pc

28 pcs

Nut∅5/16"E 4 pcs

F
G

Hanger Bolt ∅5/16"
Wrench ∅5/16"

4 pcs
1 pc

28 pcs

 ∅5/16" 4 pcsH

H

F


